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00 z,y,2000 f=f(x,y,2)00000000,0 (z,y,2) 0000 fO0O0O
(gradient) OO OO QOQOQOOOOO.
of af of

+2le, + e 3.1)

grad f = %em By

b0 e 0 :0000000D00D000.grad000O0ODOODOO, 00000000
gooooo.@nooooooooodgd

V:eg—keg—l—eg
~ Fox Yoy oz
oogooo
grad f =V f
ogoooo.

() 00D POOODODODOD & 000000QOOD.0PONQONDOMN
00000 f00000000000,0000PQOOPOODOD VFOD
000000000000 (@O00:0000 PQO dr = e,dr+e,dy+e.dz
ooooo).

() VfO f=0000(@O00000000)00000000O000O.

(3)¢0 fO00000O0O0O0O0DOOOOOOO,00000000000000.
000 o,400000000.

(i) V(af +Bg) =aVf+ Vg

(i) V(fg) =9V [+ fVyg
(iii) V (?) - ngf—Qgi
of

(iv) Vf(g) = @Vg
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() 0002000000000 (7,y) 0000000000 f= f(z,y) 00
O0,grad fO0000.000,r=+22+y2000.

i) f= (i) f=way (i) f =42+ 9y?

() 000000 r==xe,+ye,+2e, 0000,0000000000000
0.000r=|r|l000.

~—~
—
ey
—-
~—
—~

() Vr== (i) V)= f0)

@G oboobobbdgbobbOo EO

1 ¢
= =T
ey 13

E

gboogbo.0oob pOO0ODOO0ODLO0ODO 0000 @OO: 2
gogooooad).
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0000000000000000000

. 8(17;

o000 {@do0o0 AODDOUOOoOOoOOoOonO). ADOO (divergence, HOODOOO
hHooobooooooooo.

A =a,(z,y,2)e, + ay(z,y, 2)e, +a,(z,y,2)e,

day N da, Oa,

leAEax 6y+82'

(3.2)

(1) p=p(z,y,2) 00000000000,
div- (pA) = (gradp) - A+ pdiv- A
gogoooooo.
) 000000 000,

. Pp 0% Iy
le(grad@>:@+87:y2+@

gogboooogd.

div (grad ) O V-(Vy), V2 00000.000 VOO0 ADOO,00000
oooooooo.
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O0O0b00 ADOO,DO000 (etation, OO ODOOO,0D00)0O0O0DDOOO
goooo.

_ (0Oa, Oa, da, Oa, da, Oay
rotA_<8y 8z>ez+<8z 8x>ey+<8x ay)ez. (3.3)

gogbooooogn,

rotA=| & 2 2

goooo.

() rotADDi000000000000000 e, 000000.
(2 000000 000 ot (gradp)=000000000.
(3) div(rot A)=000000000.

(4) rot (pA) = (grad ) x A+ rot ADODDODOOOODO.
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() 3000000000000000.000000000000000 v(z,y,2)
000000.0000000000000 P(z,y,2)000000,000
z,4,,0000000000 (de,dy,d2) 00 000000000.0000
0000000000000000000,0000

(div v)p x dxdydz
0000000000.000 (dive)p0d0 POODO 000000,

@ 0ooboooooooooboooboobooo @oooboboboboooDoOoD. o
gogbbobuogoobboooubb 00020000000 o000
g,

OH)v=Qxr00oooooag.
) rotod oo,

oo QQboboooQuooooooooon.

3.6 VOOOOO

O00000000000.000 ¢,y 2),v(x,y,z) 0000000, A(z, vy, 2),
B(z,y,2)0000000000.

(1) Vx (pVep) =0

2) V-(V x V1)) = 0

(3) V(A-B)=(A-V)B+(B-V)A+Ax (VxB)+Bx (VxA)
4) V(AxB)=(VxA)-B—(VxB) A

(5) Vx (Vx A)=V(V-A) — V2A

20090 100 200 (OOODO)



